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1/23 - Writing an equation of a line through a point with a given slope
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Write the equation of the line that goes through the given point
and has the given slope.

(5,—2) m=73
._._mx-k-b
~Z = 3.5 +b  Subslute
l%‘l"b Solue b
'—15 "'(S




Write the formula
Substitute x, y and m
Solve the equation for b
Write the formula
Substitute m and b
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(-3,4) m=-2

. Write the formula

. Substitute x, y and m

. Solve the equation for b
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. Substitute m and b
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Write the formula
Substitute x, y and m
Solve the equation for b
Write the formula
Substitute m and b
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Write the formula
Substitute x, y and m
Solve the equation for b
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Write the formula
Substitute x, y and m
Solve the equation for b
Write the formula
Substitute m and b
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